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PROFESSIONAL EXAMINATION BOARD
Group­1 Post Graduate Selection Test 2016

20th March 2016, 09:00 AM
Topic:­ General Knowledge 
1)

Question Stimulus :­

General Knowledge

Who was the first women chief minister of Madhya Pradesh?/म鐋넀दॕष कॎ 넀थम मोऻलॊ
मॏ⌀ मॠ縀ॎ कग़न थॎ ॠ?

Meera Kumar/ मॎरॊ कॏ मॊर

Sushma Swaraj/  ॏऺहमॊ 耀रॊज

Uma Bharti/ उमॊ भॊरतॎ

Sarla Grewal / ऺरलॊ 鄀ॕशॊल

Correct Answer :­Uma Bharti/ उमॊ भॊरतॎ 

2)

Question Stimulus :­

General Knowledge

Which state is to the west of M.P.?/म. 넀. कॕ पो洀म म؄ कग़न­ऺॊ रॊ ऻॖ?

Goa/ गख़शॊ

Gujrat/ गॏजरॊत

Uttar Pradesh/ उ縃र 넀दॕष

Maharashtra/ मऻॊरॊ맀३

Correct Answer :­Gujrat/ गॏजरॊत 

3)

Question Stimulus :­

General Knowledge
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General Knowledge

Which of the following district was not added to Madhya Pradesh in
1956?/ोन가 म؄ ऺॕ कग़न­ऺॊ ोजलॊ 1956 म؄ म鐋넀दॕष म؄ ऺ्䀀ोलत नऻॎ ॠ थॊ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ 栀ॊोलयर

Nagpur/ नॊगपॏर

Correct Answer :­Nagpur/ नॊगपॏर 

4)

Question Stimulus :­

General Knowledge

Who was the first Vidhan Sabha speaker of M.P.?/म. 넀. कॎ ोशधॊन ऺभॊ कॕ 넀थम
ऺभॊपोत कग़न थॕ?

P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ

Tejlal Tembhare/तॕजलॊल टॕम् भरॕ

Gulsher Ahmad/ गॏलषॕर अऻमद

Srinivas Tiwari/ 瀀ॎोनशॊऺ ोतशॊरॎ

Correct Answer :­P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ 

5)

Question Stimulus :­

General Knowledge

Which among the following is The Business capital of Madhya Pradesh?/
ोन가 ोल्खत म؄ ऺॕ म鐋넀दॕष कॎ 戀शऺॊोयक रॊजधॊनॎ कग़न­ऺॎ ऻॖ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ 栀ॊोलयर
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Jabalpur/ जबलपॏर

Correct Answer :­Indore/ इॠदग़र 

6)

Question Stimulus :­

General Knowledge

Which of the following is a District of Madhya Pradesh?/ ोन가 म؄ ऺॕ कग़न­ऺॊ
म鐋넀दॕष कॊ एक ोजलॊ ऻॖ?

Agar Malwa/ आगर मॊलशॊ

Mhow/ मॽ

Pipariya/ ोपपौरयॊ

Budhni/ बॏधनॎ

Correct Answer :­Agar Malwa/ आगर मॊलशॊ 

7)

Question Stimulus :­

General Knowledge

State Tribal museum is situated in: /रॊ जनजॊतॎय  ॠऺ鄀ऻॊलय ्㄁थत ऻॖ­

Bhopal/ भख़पॊल म؄

Indore/ इॠदग़र म؄

Jabalpur/ जबलपॏर म؄

Guna/ गॏनॊ म؄

Correct Answer :­Bhopal/ भख़पॊल म؄ 

8)

Question Stimulus :­

General Knowledge 
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Old Vidhan sabha in Bhopal is also famous as which of the following name?/ भख़पॊल
म؄ ्㄁थत पॏरॊनॎ ोशधॊनऺभॊ और ोकऺ नॊम ऺॕ ोश⌀ॊत ऻॖ?

Edward Hall/ एडशड१ ऻॗल

Minto Hall/ ोमॠटख़ ऻॗल

Indira Hall/ इॠोदरॊ ऻॗल

Gandhi Hall/ गॊॠधॎ ऻॗल

Correct Answer :­Minto Hall/ ोमॠटख़ ऻॗल 

9)

Question Stimulus :­

General Knowledge

Which of the following is present in Mandu?/ ोन가 म؄ ऺॕ मॊॠडॐ  म؄ 夀ॊ ्㄁थत ऻॖ?

Asharfi Palace/ अषरफॎ मऻल

Roopmati Palace/ ॺपमतॎ मऻल

Jahaz Palace/ जऻॊि मऻल

All of the above/ ऊपरख़䌀 ऺभॎ

Correct Answer :­All of the above/ ऊपरख़䌀 ऺभॎ 

10)

Question Stimulus :­

General Knowledge

Ahilya Bai belongs to which of the following dynasty?/ अोऻ嘀ॊ बॊई ोन가 म؄ ऺॕ
ोकऺ रॊजशॠष ऺॕ  ॠऺब현 ऻ॰?

Holkar/ ऻख़᐀र

Bhopal/ भख़पॊल

Scindia/ ो ॠऺोधयॊ

Tripuri/ ो縀पॏरॎ
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Correct Answer :­Holkar/ ऻख़᐀र 

11)

Question Stimulus :­

General Knowledge

State planning Commission office of M.P. is situated in which building?/
म.넀. म؄ रॊ यख़जनॊ आयख़ग कॊ कॊयॊ१लय ोकऺ भशन म؄ ्㄁थत ऻॖ?

Rajbhawan/ रॊजभशन

Pustak Building/ पॏ餀क भशन

Vallabh Bhawan/ श堀भ भशन

Vindhyachal Bhawan/ ोशॠ鐋ॊचल भशन

Correct Answer :­Vindhyachal Bhawan/ ोशॠ鐋ॊचल भशन 

12)

Question Stimulus :­

General Knowledge

Jabalpur is famous as the _________capital of Madhya Pradesh?/ जबलपॏर
म鐋넀दॕष कॎ_______  रॊजधॊनॎ कॕ ॺप म؄ 넀ोऺ현 ऻॖ।

Business/ 戀ॊपॊर

Music/  ॠऺगॎत

Tourism/ पय१टन

None/ कख़ई नऻॎ ॠ

Correct Answer :­None/ कख़ई नऻॎ ॠ 

13)

Question Stimulus :­

General Knowledge 

Which of the following city is famous as Holy city of Buddhist?/ोन가 म؄ ऺॕ कग़न­ऺॊ षऻर
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बग़현 धम१ कॕ एक पोश縀 षऻर कॕ ॺप म؄ ोश⌀ॊत ऻॖ?

Sanchi/ ऺॊँचॎ

Khajuraho/ खजॏरॊऻख़

Vidisha/ ोशोदषॊ

Sagar/ ऺॊगर

Correct Answer :­Sanchi/ ऺॊँचॎ 

14)

Question Stimulus :­

General Knowledge 

Ami Kamni is associated with which sports?/ अमॎ कॊमनॎ ोकऺ खॕल ऺॕ  ॠऺब현 ऻॖ?

Softball/ ऺॗ鐀बॗल

Snooker/ Ⰰॐकर

Wushu/शॐषॐ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Snooker/ Ⰰॐकर 

15)

Question Stimulus :­

General Knowledge

Tawa Canal is present in which of following district?/ तशॊ नऻर ोन가 म؄ ऺॕ ोकऺ
ोजलॕ म؄ ्㄁थत ऻॖ?

Hoshangabad/ ऻख़षॠगॊबॊद

Bhopal/ भख़पॊल

Guna/ गॏनॊ

Datia/ दोतयॊ
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Correct Answer :­Hoshangabad/ ऻख़षॠगॊबॊद 

Topic:­ General Hindi
1)

Question Stimulus :­

‘अद्भॏ त’ रऺ कॕ ऺ् थॊयॎ भॊश कॊ नॊम क् यॊ ऻॖ?

ोशऺ् मय

रोत

उत् ऺ ॊऻ

इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­ोशऺ् मय 

2)

Question Stimulus :­

Hindi

एक ऺॕ अोधक उपऺगॳ ऺॕ बनॊ षब् द ऻॖ­

अनॊऻॊर

आऻॊर

넀ॊचॊय१

넀ऻॊर

Correct Answer :­अनॊऻॊर 

3)

Question Stimulus :­

Hindi

त먉श ष륬 कॊ चयन कॎोजए।

षकॏ न

शॊ萀
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戀थॊ

बॖल

Correct Answer :­बॖल 

4)

Question Stimulus :­

Hindi

ोन가 म؄ ऺॕ ोकऺ ष륬 कॎ रचनॊ 넀球य ऺॕ ॽई ऻॖ?

넀ोतकॐ ल

넀ॊचॊय१

क॑पॊलॐ

उ戋म

Correct Answer :­क॑पॊलॐ 

5)

Question Stimulus :­

Hindi

ोऻ⤈ॎ शण१मॊलॊ म؄ 戀ॠजनख़ ॠ कॎ  ॠऺ⌀ॊ ोकतनॎ ऻॖ?

32

34

33

36

Correct Answer :­33 

6)

Question Stimulus :­

Hindi
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ोन가 ोशक䰀ख़ॠ म؄ ोकऺॎ एक कॎ शत१नॎ षॏ현 ऻॖ, चयन कॎोजए।

मॏॽ१त

मॏॾत१

मॾत१

मॏॽत१

Correct Answer :­मॏॾत१ 

7)

Question Stimulus :­

Hindi

ोन가 ोशक䰀ख़ॠ म؄ ऺॕ षॏ현 शॊ夀 कॊ चयन कॎोजए?

एक फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ।

फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ एक।

फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए।

फॐ लख़ ॠ कॎ मॊलॊ एक लॕ आईऐ।

Correct Answer :­फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए। 

8)

Question Stimulus :­

Hindi

ोनम् नोल्खत शॊ夀ख़ॠ म؄ ऺॕ  ॠऺदॕऻ शॊचक शॊक् य कॊ चयन कॎोजए।

परख़पकॊर ऻॎ मॊनशतॊ ऻॖ।

अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ।

मॕरॎ बॊत मॊनख़ और ोदल लगॊ कर पुख़।

ऺ् शॊथЄ श् य्䌀 कख़ ोमञ नऻॎ बनॊनॊ चॊोऻए।

Correct Answer :­अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ। 
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9)

Question Stimulus :­

Hindi

ोन가ोल्खत शॊ夀 म؄ रॕखॊॠोकत ष륬 कॕ ोशलख़म ष륬 कॊ चयन कर ौर䌀 ㄁थॊन भौरए।

ऻम؄ ऺॊ्刋क भख़जन करनॊ चॊोऻए, ______ भख़जन षरॎर कॕ ोलए ऻॊोनकॊरक ऻॖ।

ॠऺतॏोलत

तॊमोऺक

अ ॠऺतॏोलत

इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­तॊमोऺक 

10)

Question Stimulus :­

Hindi

ोन가 넀眀 कॕ ष륬­ यॏ怀 कॕ ोशक䰀ख़ॠ म؄ ऺॕ ऺऻॎ अथ१­भॕद कॊ चयन कॎोजए।

तरणॎ­तरोण

तरणॎ­मग़कॊ

मग़कॊ­नग़कॊ

ॐऺय१­नग़कॊ

नग़कॊ­ ॐऺय१

Correct Answer :­नग़कॊ­ ॐऺय१ 

11)

Question Stimulus :­

Hindi

“ोजऺकॎ लॊठॎ उऺकॎ भ॰ऺ” म؄ ________ऺश१नॊम ऻॖ।
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पॏॺह शॊचक

ोनज शॊचक

ऺ눀ॠध शॊचक

ोन洀य शॊचक

Correct Answer :­ऺ눀ॠध शॊचक 

12)

Question Stimulus :­

Hindi

‘अथॳपॊज१न’ ोकऺ  ॠऺोध कॊ उदॊऻरण ऻॖ?

दॎघ१ 耀र

गॏण 耀र

यण 耀र

अयॊोद 耀र

Correct Answer :­गॏण 耀र 

13)

Question Stimulus :­

Hindi

‘ोनम् नोल्खत षब् दख़ ॠ म؄ कग़न­ऺॊ बॽ耀ॎोऻ’ ऺमॊऺ कॊ उदॊऻरण नऻॎ ॠ ऻॖ?

ो縀लख़चन

ोशहधर

गजॊनन

ो縀भॏशन

Correct Answer :­ो縀भॏशन 

14)
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Question Stimulus :­

Hindi

“चरण कमल ऺम कख़मल” म؄ चरण षब् द ऻॖ­

उपमॊन

उपमॕय

ऺॊधॊरण षब् द

शॊचक षब् द

Correct Answer :­उपमॕय 

15)

Question Stimulus :­

Hindi

ोन가 म؄ ऺॕ ोकऺ ऺमॐऻ म؄ ऺभॎ ष륬 ‘ऺमॏ꬀’ कॕ पयॊ१यशॊचॎ ऻ॰?

जलोध, ऺॊगर, ऺर, तरॠगॊ

अॠबॏोध, ोऺ輈ॏ, उदोध, मऻॊण१श

उदोध, तीॊग, तरॠग, ऺर

ऺॊगर, ोऺ輈ॏ, ऺॕतॏ, तरोन

Correct Answer :­अॠबॏोध, ोऺ輈ॏ, उदोध, मऻॊण१श 

Topic:­ General English
1)

Question Stimulus :­

English

Choose the option which can be substituted for the given sentence.

One who is unable to pay his debts.

Wealthy.

Successful.
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Bankrupt.

Solvent.

Correct Answer :­Bankrupt. 

2)

Question Stimulus :­

English

Out of the given options choose the one with the correct spelling.

Judgement.

Judgment.

Judgemant.

Judgament.

Correct Answer :­Judgement. 

3)

Question Stimulus :­

English

Find out which part of the sentence has an error. If there is no error, mark
your answer as ‘No error’.

The enemy has received (a)/ many information’s regarding (b)/the
activities of the army (c)/of our neighboring countries. No error (d).

(a)

(b)

(c)

(d)

Correct Answer :­(b) 

4)
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Question Stimulus :­

English

Arrange the following sentences to form a logically coherent paragraph.

A. linked with lack of self­confidence.

B. Basically, for a child to understand a language,

C. Stammering is a habit disorder

D. there are four stages.

CBAD.

CABD.

BCDA.

DACB.

Correct Answer :­CABD. 

5)

Question Stimulus :­

English

Complete the following sentence by choosing the correct form of verb.

He has _____ a lot of courage during his times of adversity.

show

shows

showing

shown

Correct Answer :­shown 

6)

Question Stimulus :­

English
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Complete the following sentence by choosing the correct conjunction.

Tina was unwell, _____ she went shopping with her friends.

and

so

yet

therefore

Correct Answer :­yet 

7)

Question Stimulus :­

English

Complete the following sentence by choosing the most appropriate word
given below:

Would all those in favour please _______ their hands?

rays

raise

raze

race

Correct Answer :­raise 

8)

Question Stimulus :­

English

Complete the following sentence by choosing the correct preposition.

All the boys quarreled _________themselves.

among

between
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across

besides

Correct Answer :­among 

9)

Question Stimulus :­

English

Complete the following sentence by choosing the correct article.

I saw _______ one­eyed man yesterday.

the

an

a

No article required

Correct Answer :­a 

10)

Question Stimulus :­

English

Complete the following sentence by choosing the correct determiner.

I requested him to bring me________ books.

less

little

few

a few

Correct Answer :­a few 

11)
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Question Stimulus :­

English

Complete the following sentence by choosing the correct Phrasal Verb.

While giving evidence in the court, she ______.

broke up

broke into

broke down

broke off

Correct Answer :­broke down 

12)

Question Stimulus :­

English

Tick the option that has the same meaning as the word underlined in the sentence.

One must try to overcome adverse circumstances.

favorable

unfavorable

climatic

pleasant

Correct Answer :­unfavorable 

13)

Question Stimulus :­

English

Tick the word that is opposite in meaning to the word that is underlined.

Shakespeare was a prolific writer.

productive
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unproductive

popular

famous

Correct Answer :­unproductive 

14)

Question Stimulus :­

English

Complete the following sentence by choosing the correct modal.

She works hard so that she _____ pass.

might

may

should

shall

Correct Answer :­may 

15)

Question Stimulus :­

English

Complete the following sentence by choosing the correct order of
pronouns.

________ will watch movie tonight.

You, Sonal and I

Sonal, You and I

I , You and Sonal

I , sonal and you

Correct Answer :­You, Sonal and I 
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Topic:­ General Computer Knowledge
1)

Question Stimulus :­

Computer

Drum Pen is a type of­/ड३ म पॕन एक 넀कॊर कॊ ______ ऻॖ।

Printer/ ो넀ॠटर

Plotter/ 儐ॗटर

Scanner/ ꤀ॖनर

Keyboard/ कॎ­बख़ड१

Correct Answer :­Plotter/ 儐ॗटर 

2)

Question Stimulus :­

Computer

The process of verification for ‘Log­in­name’ and ‘Password’ is­/ लॗग­इन­नॕम तथॊ ‘पॊऺशड१’ कॕ
ऺ球ॊपन कॎ 넀ोॿयॊ ऻॖ­

Logging in/ लॗोगॠग इन

Certification/ ऺोट१ोफकॕषन

Authentication/ ऑथ؄ोटकॕषन

Configuration/ कॗ्ूगरॕषन

Correct Answer :­Authentication/ ऑथ؄ोटकॕषन 

3)

Question Stimulus :­

Computer

Powerpoint is a­/पॊशरपॗइॠट ऻॖ एक­

Word Processor/ शड१ 넀ख़ऺॕऺर
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Spreadsheet Program/ ㄀ॖडषॎट 넀ख़鄀ॊम

Presentation Package/ 넀ॕज؄टॕषन पॖकॕज

Database Management Package/ डॕटॊबॕऺ मॖनॕजम؄ट पॖकॕज

Correct Answer :­Presentation Package/ 넀ॕज؄टॕषन पॖकॕज 

4)

Question Stimulus :­

Computer

Which of the following is the physical path over which a message travels?/
ोन가 म؄ ऺॕ कग़न ऺॊ भग़ोतक पथ ऻॖ, ोजऺऺॕ  ॠऺदॕष  ॠऺचॊौरत (गोत) ऻख़तॊ ऻॖ?

Protocol/ 넀ख़टख़कॗल

Signal/ ोऺ㤀ल

Medium/ मॎोडयम

Pathway/ पॊथ­शॕ

Correct Answer :­Medium/ मॎोडयम 

5)

Question Stimulus :­

Computer

Which of the following refers to the physical arrangement of a network?/ ोन가 म؄ ऺॕ कग़न­ऺॊ
नॕटशक१  कॎ भग़ोतक 戀श㄁थॊ कख़ दषॊ१तॊ ऻॖ?

Data flow/ डॕटॊ �ख़

Mode of operation/ मख़ड ऑफ ऑपरॕषन

Topology/ टख़पख़लॗजॎ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Topology/ टख़पख़लॗजॎ 

6)
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Question Stimulus :­

Computer 

Protocol suite for the Current Internet is­/ शत१मॊन इॠटरनॕट कॕ ोलए 넀ख़टख़कॗल  ॐऺट ऻॖ­

TCP/IP/ टॎऺॎपॎ/आईपॎ

NCP/ एनऺॎपॎ

UNIX/ यॐोन쀀

ACM/ एऺॎएम

Correct Answer :­TCP/IP/ टॎऺॎपॎ/आईपॎ 

7)

Question Stimulus :­

Computer

______ layer is responsible for ‘process to process’ delivery?/ _____ लॕयर
‘넀ख़ऺॕऺ टॐ  넀ख़ऺॕऺ’ ोडोलशरॎ कॕ ोलए ोज䀀ॕदॊर ऻख़तॎ ऻॖ?

Data link layer/ डॕटॊ ोलॠक लॕयर

Session layer/ ऺॕषन लॕयर

Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर

Network layer/ नॕटशक१  लॕयर

Correct Answer :­Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर 

8)

Question Stimulus :­

Computer

Logical design of database is known as­/ डॕटॊबॕऺ कॕ लॗोजकल ोडिॊइन कख़ कऻतॕ ऻ॰­

Database schema/ डॕटॊबॕऺ ॺपरॕखॊ

Database Instance/ डॕटॊबॕऺ इॠ케؄ऺ

Database snapshot/ डॕटॊ Ⰰॖपषॗट
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Database design/ डॕटॊबॕऺ ोडिॊइन

Correct Answer :­Database schema/ डॕटॊबॕऺ ॺपरॕखॊ 

9)

Question Stimulus :­

Computer

Which of the following can be taken as a primary key?/ ोन가 म؄ ऺॕ कग़न­ऺॊ
넀ॊथोमक कॏॠ जॎ कॕ ॺप म؄ ोलयॊ जॊ ऺकतॊ ऻॖ?

Name/नॊम

Id/आईडॎ

Street/ऺीक

Department/ोडपॊट१म؄ट

Correct Answer :­Id/आईडॎ 

10)

Question Stimulus :­

Computer 

SDL stands for­/ एऺडॎएल कॊ पॐण१ ॺप ऻॖ­

Storage discrete localisation/ 케ख़रॕज ोड्销ट लख़कॕलॊइजॕषन

Storage definition localisation/ 케ख़रॕज डॕोफनॕषन लख़कॕलॊइजॕषन

Storage definition language/ 케ख़रॕज डॕोफनॕषन ल॰栀ॕज

Storage discrete language/ 케ख़रॕज ोड्销ट ल॰栀ॕज

Correct Answer :­Storage definition language/ 케ख़रॕज डॕोफनॕषन ल॰栀ॕज 

Topic:­ General Science
1)

Question Stimulus :­

General Science
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What is PH value of human blood?/ मॊनश र䌀 कॊ PH मॊन ोकतनॊ ऻख़तॊ ऻॖ?

7

7.2

7.4

7.8

Correct Answer :­

7.4 

2)

Question Stimulus :­

General Science

In a human body, the basic building block are­/ मॊनश षरॎर म؄ मॏ⌀  ॠऺरचनॊ갃क इकॊई ऻॖ­

Muscles/ Ⰰॊयॏ

Nerves/ न ؄ऺ

Cells/ कख़ोषकॊय؄

Bones/ ऻो䠁यॊँ

Correct Answer :­Cells/ कख़ोषकॊय؄ 

3)

Question Stimulus :­

General Science

Approximately how much time does a Sun ray take reaching Earth?/  ॐऺय१ ऺॕ प॑怋ॎ तक 넀कॊष
पॽँचनॕ म؄ ोकतनॊ ऺमय लगभग लगतॊ ऻॖ?

400 seconds/ 400 ऺॕकॠ ड

500 seconds/ 500 ऺॕकॠ ड

600 seconds/ 600 ऺॕकॠ ड

700 Seconds/ 700 ऺॕकॠ ड
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Correct Answer :­500 seconds/ 500 ऺॕकॠ ड 

4)

Question Stimulus :­

General Science

Which among the following molecule is rarely found in universe but abundant on earth?/
ोन가 म؄ ऺॕ कग़न ऺॊ पदॊथ१ अॠतौरꈀ म؄ उप्㄁थत नऻॎ ॠ ऻॖ, पर㬇ॏ प॑怋ॎ पर 넀चॏर मॊ縀ॊ म؄ ऻॖ?

CO 2

O2

CH4

He

Correct Answer :­O2 

5)

Question Stimulus :­

General Science

Which of the following Kingdom represents bacteria?/ ोन가 म؄ ऺॕ कग़न­ऺॊ जगत बॖ픀ॎौरयॊ कॊ
넀ोतोनोध刋 करतॊ ऻॖ?

Monera/ मख़नॕरॊ

Protista/ 넀ख़ोट케

Protozoa/ 넀ख़टख़जख़आ

Metazoa/मॕटॊजख़आ

Correct Answer :­Monera/ मख़नॕरॊ 

6)

Question Stimulus :­

General Science

Which among the following laws of Physics explain about the elliptical orbits of
planetary bodies?/ ोन가 म؄ ऺॕ कग़न­ऺॊ भग़ोतक ोनयम 鄀ऻ­ोप嬃ख़ॠ कॕ परशलयॊकॊर कꈀ कख़ 넀दोष१त करतॊ ऻॖ?
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Newton's Law/ 䨌ॐटन कॊ ोनयम

Kepler's Law/ कॕपलर कॊ ोनयम

Snell's law/ Ⰰॕल कॊ ोनयम

Coulomb's law/ कॏ ल ॠॗ눀 कॊ ोनयम

Correct Answer :­Kepler's Law/ कॕपलर कॊ ोनयम 

7)

Question Stimulus :­

General Science

On which of the following the weight of a person will be minimum?/ ोन가 म؄ ऺॕ कऻॊँ ोकऺॎ
戀्䌀 कॊ भॊर 䨌ॐनतम ऻख़गॊ?

Venus/ षॏॿ

Mars/ मॠगल 鄀ऻ

Moon/ चॠ꬀्मॊ

Mercury/ पॊरॊ

Correct Answer :­Moon/ चॠ꬀्मॊ 

8)

Question Stimulus :­

General Science

The "Planetoids" are located between which of the following?/ अॠतौरꈀ म؄ “ꈀॏ꬀鄀ऻ”, ोन가 म؄ ऺॕ
ोकन कॕ बॎच उप्㄁थत ऻख़तॕ ऻ॰?

Mars and Jupiter/ मॠगल और ब॑ऻ⨀ोत

Saturn & Jupiter/ षोन और ब॑ऻ⨀ोत

Mercury and Venus/ बॏध और षॏॿ

Earth & Mars/ प॑怋ॎ और मॠगल 鄀ऻ

Correct Answer :­Mars and Jupiter/ मॠगल और ब॑ऻ⨀ोत 
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9)

Question Stimulus :­

General Science

Deficiency of Tocopherol leads to sterility in males and females. The popular word for
Tocopherol is _____?/ टख़कख़ोफरॊल कॎ कमॎ नर श मॊदॊ म؄ नपॏॠऺकतॊ उ餃 कर ऺकतॎ ऻॖ। टख़कख़ोफरॊल कख़
ऺॊमॊ䨌तॡ जॊनॊ जॊतॊ ऻॖ।

Vitamin B3/ ोशटॊोमन बॎ3

Vitamin K/ ोशटॊोमन कॕ

Vitamin E/ ोशटॊोमन ई

Vitamin C/ ोशटॊोमन ऺॎ

Correct Answer :­Vitamin E/ ोशटॊोमन ई 

10)

Question Stimulus :­

General Science

Water at 3.98o C has______./ जल 3.98o C कॊ पर _____ ऻख़तॊ ऻॖ।

minimum density/ 䨌ॐनतम घन刋

maximum density/ ऺशॊ१ोधक घन刋

maximum weight/ ऺशॊ१ोधक भॊर

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­maximum density/ ऺशॊ१ोधक घन刋 

11)

Question Stimulus :­

General Science

Which among the following is edible?/ ोन가 म؄ ऺॕ कग़न­ऺॊ खॊनॕ यख़戀 ऻॖ?

Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊबॳनॕट

Sodium Carbonate/ ऺख़ोडयम कॊबॳनॕट
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Sodium Dioxide/ ऺख़ोडयम डॊइऑ쀀ॊइड

Sodium Hydroxide/ ऺख़ोडयम ऻॊइड३ ॗ쀀ॊइड

Correct Answer :­Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊबॳनॕट 

12)

Question Stimulus :­

General Science

What does contain "Red Data Book”? / ” रॕड डॕटॊ बॏक” म؄ 夀ॊ ऻख़तॊ ऻॖ?

Astrology/ खगख़ल षॊ鼀

Endangered wild plants, animals/ लॏ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ

Communism/ ऺमॊजशॊदॎ

Endangered Forests/ लॏ넀ॊय जॠगल

Correct Answer :­Endangered wild plants, animals/ लॏ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ 

13)

Question Stimulus :­

General Science

In context with Science and Technology development of China, what is Tianhe­I?/ ोशئجॊन श
넀ग़쐊ख़ोगक कॕ ोशकॊऺ म؄ चॎन कॊ ोतयॊनॕ­I 夀ॊ ऻॖ?

A satellite/ एक उप鄀ऻ

A space station/ एक अॠतौरꈀ 케ॕषन

A super computer/ एक  ॏऺपर कᐠㄐॐटर

A proposed GPS/ एक 넀餀ॊोशत जॎपॎएऺ

Correct Answer :­A super computer/ एक  ॏऺपर कᐠㄐॐटर 

14)

Question Stimulus :­

General Science
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Which among the following can be measured with Anemometer?/ एनॎमख़मॎटर ऺॕ ोन가 म؄ ऺॕ 夀ॊ
मॊपॊ जॊतॊ ऻॖ?

Water Velocity/ पॊनॎ कॊ शॕग

Wind Velocity/ पशन कॊ शॕग

Relative Humidity/ ऺॊपॕꈀ आ꬀१तॊ

Absolute Humidity/ ोनरपॕꈀ आ꬀१तॊ

Correct Answer :­Wind Velocity/ पशन कॊ शॕग 

15)

Question Stimulus :­

General Science

Which is the most abundant metal in the Earth's crust?/ प॑怋ॎ कॎ ऺतऻ पर कग़न­
ऺॎ धॊतॏ ऺशॊ१ोधक पॊयॎ  जॊतॎ ऻॖ?

Silicon/ ोऺोलकन

Iron/ लख़ऻॊ

Aluminium/ ए嘀ॏोमोनयम

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Aluminium/ ए嘀ॏोमोनयम 

Topic:­ General Reasoning
1)

Question Stimulus :­

Logical Reasoning

In the following question, there is a certain relationship between two given words on
one side of :: and one word is given on another side of :: while another word is to be
found from the given alternative, having the same relation with this word as the words
of the given pair bear. Choose the correct alternative./नॎचॕ ोदए गए 넀眀 म؄ ोच� (::) कॕ बॊॠई ओर दख़
पद ोदए गए ऻ॰। ोजनम؄ आपऺ म؄ एक 넀कॊर ऺॕ कख़ई ऺ눀輈 ऻॖ, ठॎक इऺॎ 넀कॊर कॊ ऺ눀輈 ोच� (::) कॕ दॊॠई और ोदए
गए पद तथॊ उऺकॕ नॎचॕ ोदए गए ोशक䰀ख़ॠ म؄ ऺॕ ोकऺॎ एक पद कॕ बॎच म؄ भॎ ऻॖ। शऻॎ ोशक䰀 कॊ पद उ縃र ऻॖ। ऺऻॎ ोशक䰀
कॊ चयन कर؄।

Manipur : Imphal : : Rajasthan : ?/ मोणपॏर : इॠफॊल : : रॊज㄁थॊन : ?
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Udaipur/ उदयपॏर

Ajmer/ अजमॕर

Jaipur/ जयपॏर

India/ भॊरत

Correct Answer :­Jaipur/ जयपॏर 

2)

Question Stimulus :­

Logical Reasoning

Pointing towards a boy, Sonam said, “He is the son of the only sister of my father”. How
is the boy related to sonam?/ एक लीकॕ कॎ और इषॊरॊ करतॕ ॽए ऺख़नम नॕ कऻॊ, “शऻ मॕरॕ ोपतॊ कॎ इकलग़तॎ
बऻन कॊ बॕटॊ ऻॖ”। लीकॊ, ऺख़नम ऺॕ ोकऺ 넀कॊर  ॠऺबॠोधत ऻॖ?

Nephew/ भतॎजॊ

Son/ पॏ縀

Brother/ भॊई

Cousin/ कोिन

Correct Answer :­Cousin/ कोिन 

3)

Question Stimulus :­

Logical Reasoning

What is the angle traced by hour hand in 20 minutes?/ 20 ोमनट म؄ घॠटॕ कॎ  ॏऺई
ोकतनॊ कख़ण बनॊएगॎ?

20o

10o

25o

75o
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Correct Answer :­10o 

4)

Question Stimulus :­

Logical Reasoning

If day before yesterday was Monday, when will be Saturday?/ योद बॎतॕ ॽए कल कॕ पऻलॊ शॊलॊ
ोदन ऺख़मशॊर थॊ, तख़ षोनशॊर कब ऻख़गॊ?

Tomorrow/ आनॕ शॊलॊ कल

Day after tomorrow/ आनॕ शॊलॕ कल कॕ बॊद शॊलॊ ोदन

Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद 

5)

Question Stimulus :­

Logical Reasoning  

From Parul’s home, she goes to her school which is 10 kms towards north. From there,
she turns right and goes 15 kms. After that she again turns right goes 5 kms and then
turns right and goes 15 kms. Now, how far is she from her starting point?/ पॊॹल अपनॕ घर ऺॕ
꤀ॐ ल जॊतॎ ऻॖ जख़ 10 ोकमॎ उ縃र कॎ ओर ऻॖ। ोफर शऻ शऻॊँ ऺॕ दॊएॠ  मॏीतॎ ऻॖ और 15 ोकमॎ. जॊतॎ ऻॖ। इऺकॕ बॊद शऻ दॊएॠ
मॏीकर 5 ोकमॎ जॊतॎ ऻॖ और ोफर दॊएॠ  मॏीकर 15 ोकमॎ जॊतॎ ऻॖ। अब शऻ अपनॕ 넀ॊरॠ ोभक ोबॠदॏ ऺॕ ोकतनॎ दॐ र ऻॖ?

10 kms

25 kms

15 kms

5 kms

Correct Answer :­5 kms 

6)

Question Stimulus :­

Logical Reasoning
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In the following options, three of them are alike in a certain way and thus form a group.
Which one does not belong to that group?/ ोन가 ोशक䰀ख़ॠ म؄ ऺॕ तॎन एक ोनो洀त तरॎकॕ ऺॕ ऺमॊन ऻ॰ और
इऺोलए एक ऺमॐऻ बनॊतॕ ऻ॰। कग़न­ऺॊ एक, इऺ ऺमॐऻ ऺॕ ऺ눀्輈त नऻॎ ॠ ऻॖ?

Black : 25

Orange : 36

Blue : 12

Magenta : 49

Correct Answer :­Blue : 12 

7)

Question Stimulus :­

Logical Reasoning  

In  the  given  arrangement, which  is  the  4th  letter/digit/symbol  to  the  right  of  the  14th
letter/digit/symbol from right end?/ दॎ गई 戀श㄁थॊ म؄, दॊएँ छख़र ऺॕ 14श؄ अꈀर/अॠक/ोच� कॕ दॊएँ ऺॕ 4थॊ
अꈀर/अॠक/ोच� कग़न ऺॊ ऻॖ?

4 7 I ? J 2 T @ # S 5 P Q % U & X C

#

S

7

@

Correct Answer :­# 

8)

Question Stimulus :­

Logical Reasoning

In a certain code language SHEEPS is written as TGFDQR , MOULDS is
written as NNVKER, then how will ORANGE be written in that code?/ ोकऺॎ
कॐ ट भॊहॊ म؄, SHEEPS कख़ TGFDQR ोलखतॕ ऻ॰ , MOULDS  कख़ NNVKER ोलखतॕ ऻ॰, इऺ कॐ ट
म؄ ORANGE कख़ कॖऺॕ ोलख؄गॕ?

PQBMHD
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PSBOHF

PTDRML

QTCPIG

Correct Answer :­PQBMHD 

9)

Question Stimulus :­

Logical Reasoning

Which of the answer figures is exactly the mirror image of the given figure when the
mirror is held at PQ?/ कग़न ऺॎ उ縃र आक॑ोत पॐण१ ॺप ऺॕ दॎ गयॎ आक॑ोत कॊ दप१ण 넀ोतोब눀 ऻॖ। जब दप१ण PQ
पर रखॊ गयॊ ऻॖ?

Question figure/ 넀眀 आक॑ोत

Answer figure/ उ縃र आक॑ोत

(a)

(b)

(c)

(d)

Correct Answer :­(a) 

10)

Question Stimulus :­

Logical Reasoning
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What  will  come  in  place  of  the  question  mark  (?)  in  the  following  number  series?  /
ोन가ोल्खत  ॠऺ⌀ॊ 넀णॊलॎ म؄ 넀眀शॊचक ोच� (?) कॕ ㄁थॊन पर 夀ॊ आयॕगॊ?

1, 2, 5, 10, ?, 26, 37

15

12

17

24

Correct Answer :­17 

11)

Question Stimulus :­

Logical Reasoning

If the first and second letters of the word PREPARATIONS were inter­changed, also third
and fourth letter, fifth and sixth letter and so on, then which letter would be ninth from
left end?/ योद ष륬 PREPARATIONS म؄ पऻलॕ और दॐऺरॕ अꈀर कख़ आपऺ म؄ बदल ोलयॊ जॊए और इऺॎ तरऻ
तॎऺरॕ और चग़थॕ अꈀर कख़, पॊॠचशॕ और छटश؄ अꈀर कख़ और इऺॎ तरऻ ऺॕ आगॕ, तख़ बॊएॠ  छख़र ऺॕ 9शॊँ अꈀर कग़न ऺॊ ऻख़गॊ ?

O

I

A

T

Correct Answer :­O 

12)

Question Stimulus :­

Logical Reasoning

Three positions of a dice is given. Which is the number opposite to 2?/ एक पॊॠऺॕ कॎ तॎन
्㄁थोतयॊँ दॎ गयॎ ऻ॰। 2 कॕ ोशपरॎत कग़न ऺॊ अॠक ऻख़गॊ?
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1

5

6

4

Correct Answer :­5 

13)

Question Stimulus :­

Logical Reasoning

Seven children A, B, C, D, E, F, G are standing in a queue from top to
bottom. E is at fifth place. Only C is between A and B. G is at bottom. B is
three places after F. What is the position of D from top?/ ऺॊत ब猀ॕ A, B, C, D,
E, F, G एक पॠ्䌀 म؄ ऊपर ऺॕ नॎचॕ  खीॕ ॽए ऻ॰। E पॊॠचशॕ ㄁थॊन पर ऻॖ। कॕशल C, A और B कॕ बॎच म؄
ऻॖ। G ऺबऺॕ नॎचॕ ऻॖ। B, F कॕ तॎन ㄁थॊन पॎछॕ ऻॖ। ऊपर ऺॕ D कॊ ㄁थॊन 夀ॊ ऻख़गॊ?

Fourth/ चग़थॊ

Sixth/ छटशॊँ

Second/ दॐऺरॊ

Last/ अॠोतम

Correct Answer :­Sixth/ छटशॊँ 

14)

Question Stimulus :­

Logical Reasoning

DIRECTIONS/ोनद८ष: In the question below are given two statements followed by two
conclusions numbered I and II. You have to take the given statements to be true even if
they seem to be at variance from commonly known facts. Read both the conclusions and
then decide which of the given conclusions logically follows from the given statements./
नॎचॕ ोदयॕ गए 넀眀 म؄ दख़ कथन और उऺकॕ नॎचॕ दख़ ोन㐀ह१ I और II ोदए गए ऻ॰। आपकख़ ोदए गए कथनख़ ॠ कख़ ऺ球 मॊननॊ
ऻॖ। भलॕ ऻॎ शॕ ऺश१ئجॊत त尋ख़ॠ ऺॕ ोभत 넀तॎत ऻख़। दख़नख़ ॠ ोन㐀हॵ कख़ पोुए और ोफर तय कॎोजए ोक कग़न ऺॊ ोन㐀ह१ ोदए
गए कथनख़ ॠ कॊ तक१   ॠऺगत ॺप ऺॕ अनॏऺरण करतॊ ऻॖ।

 

Statements/कथन:
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All roses are flowers./ ऺभॎ गॏलॊब फॐ ल ऻ॰।

All flowers are trees./ ऺभॎ फॐ ल पॕी ऻ॰।

Conclusions/ोन㐀ह१:

I. All trees are roses./ ऺभॎ पॕी गॏलॊब ऻ॰।

II. Some flowers are roses./ कॏ छ फॐ ल गॏलॊब ऻ॰।

If only Conclusion I follows/ योद कॕशल ोन㐀ह१ I अनॏऺरण करतॊ ऻॖ

If only Conclusion II follows/ योद कॕशल ोन㐀ह१ II अनॏऺरण करतॊ ऻॖ

If either Conclusion I or II follows/ योद यॊ तख़ ोन㐀ह१ I यॊ II अनॏऺरण करतॊ ऻॖ

If both Conclusions I and II follow/ योद दख़नख़ ॠ ोन㐀ह१ I और II अनॏऺरण करतॕ ऻ॰

Correct Answer :­If only Conclusion II follows/ योद कॕशल ोन㐀ह१ II अनॏऺरण करतॊ ऻॖ 

15)

Question Stimulus :­

Logical Reasoning

Out of  the  five  figures  that  follow, you are  to  indicate which  figure will best  represent
the relationship amongst the three classes/ोन가 दॎ गई पॊॠच आक॑ोतयख़ ॠ म؄ ऺॕ उऺ आक॑ोत कख़ चॏोनयॕ, जख़
इन तॎन शगॳ कॕ बॎच ऺ눀輈 कख़ दषॊ१तॊ ऻॖ।

Colours, Yellow, Blue/ रॠग, पॎलॊ, नॎलॊ

(I)

(II)

(III)

(V)
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Correct Answer :­(III) 

Topic:­ General Maths
1)

Question Stimulus :­

Maths

In an examination, a student scores 1 marks for every correct answer and
loses 1/4 marks for every wrong answer. If he attempts in all 70 question
and secures 40 marks, then how many questions he attempted correctly?/
एक परॎꈀॊ म؄ एक छॊ縀 넀त् यॕक ऺऻॎ उत् तर कॕ ोलए 1 अॠक 넀ॊप् त करतॊ ऻॖ और 넀त् यॕक गलत उत् तर कॕ
ोलए 1/4 अॠक कम ोकयॕ जॊतॕ ऻ॰। योद उऺनॕ कॏ ल 70 넀ष् न ऻल ोकए और 40 अॠक 넀ॊप् त ोकयॕ, तख़
उऺनॕ ोकतनॕ 넀ष् न ऺऻॎ ऻल ोकयॕ?

42

46

52

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­46 

2)

Question Stimulus :­

Maths

Arrange the fractions  ,  ,  ,   in ascending order./ोभख़ ॠ  ,  ,  ,    कख़ आरख़ऻॎ
ॿम म؄ श् यश्㄁थत कर؄।

 <    <   < 

 <   <  < 

 <   <   < 

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­  <   <   <   
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3)

Question Stimulus :­

Maths 

In a forest which has only deer and humans. There are 80 heads and 230
legs. How many humans are there? /एक जॠगल म؄ जऻॊँ कॕशल ोऻरण और मनॏह् य ऻ॰। शऻॊँ
80 ोऺर और 230 पॖर ऻ॰। शऻॊँ ोकतनॕ मनॏह् य ऻ॰?

40

25

35

45

Correct Answer :­45 

4)

Question Stimulus :­

Maths

A salesman bought toffees at 7 for a rupee. How many toffees for a rupee
he must sell to gain 40%?/ एक श् यॊपॊरॎ 1 ॹपयॕ म؄ 7 टॗफॎयॊँ खरॎदतॊ ऻॖ। शऻ 1 ॹपयॕ म؄
ोकतनॎ टॗफॎयॊँ बॕचॕ तॊोक  40% कॊ लॊभ ऻख़?

3

4

5

6

Correct Answer :­5 

5)

Question Stimulus :­

Maths 

A fruit seller had some bananas. He sold 20% bananas and still has 128
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bananas. How many bananas he had initially?/ एक फल ोशॿॕतॊ कॕ पॊऺ कॏ छ कॕलॕ
थॕ। उऺनॕ 20% कॕलॕ बॕच ोदए और ोफर भॎ उऺकॕ पॊऺ 128 कॕलॕ बचॕ ॽए ऻ॰। उऺकॕ पॊऺ षॏॹआत म؄ ोकतनॕ
कॕलॕ थॕ?

156

160

176

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­160 

6)

Question Stimulus :­

Maths

At what rate of compound interest per annum will a sum of Rs.1200
become Rs.1323 in 2 years?/ ोकतनॕ 넀ोतषत शॊोह१क चॿश्॑현 ब् यॊज कॎ दर ऺॕ ॹ.1200,
2 शह१ म؄ ॹ.1323 ऻख़ जॊएँगॕ?

6%

4%

5%

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­5% 

7)

Question Stimulus :­

Maths

Rajesh and Shakshi are partners in a business. Rajesh invests Rs.35,000
for 8 months and Shakshi invests Rs.42,000 for 10 months. Out of a profit
of Rs.31,570 Rajesh’s share is (in Rupees)./रॊजॕष और ऺॊꈀॎ एक 戀शऺॊय म؄
ऺॊझॕदॊर ऻ॰। रॊजॕष 8 मऻॎनॕ कॕ ोलए ॹ.35000 ोनशॕष करतॊ ऻॖ और ऺॊꈀॎ 10 मऻॎनॕ कॕ ोलए
ॹ.42,000 ोनशॕष करतॎ ऻॖ। कॏ ल लॊभ ॹ.31,570 म؄ रॊजॕष कॊ ोऻऺ् ऺ ॊ (ॹपयॕ म؄) ऻॖ:­

12,628
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14,060

16,162

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­12,628 

8)

Question Stimulus :­

Maths

A boy rides his bicycle 10 km at an average speed of 15 km/hr and again
travels 15 km at an average speed of 10 km/hr. His average speed (in
km/hr) for the Entire trip is:/एक लीकॊ 15 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 10 ोकमॎ ऺॊइकल ऺॕ जॊतॊ ऻॖ
और पॏन: 10 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 15 ोकमॎ जॊतॊ ऻॖ। पॐरॎ यॊ縀ॊ कॕ ोलए उऺकॎ औऺत गोत (ोकमॎ/घॠटॕ म؄)
ऻॖ:­

13

7

7

11

Correct Answer :­11  

9)

Question Stimulus :­

Maths

Pavan is twice efficient than Rakesh. If together they finish a piece of
work in 15 days. The number of days taken by Pavan alone to finish the
work is:/पशन कॎ कॊय१ꈀमतॊ रॊकॕष ऺॕ दख़गॏनॎ ऻॖ। योद दख़नख़ ॠ एक ऺॊथ ोकऺॎ कॊम कख़ 15 ोदन म؄
कर ऺकतॕ ऻ॰ तख़ पशन कख़ अकॕलॕ कॊम ऺमॊप् त करनॕ म؄ लगॕ ोदनख़ ॠ कॎ  ॠऺख् यॊ ऻॖ­

10

25
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22

27

Correct Answer :­22  

10)

Question Stimulus :­

Maths 

The average of 5 consecutive even number is 18. Find the largest
number./5 लगॊतॊर ऺम  ॠऺख् यॊओॠ कॊ औऺत 18 ऻॖ। ऺबऺॕ बीॎ  ॠऺख् यॊ ئجॊत कर؄ ।

20

22

24

28

Correct Answer :­22 

11)

Question Stimulus :­

Maths

The speeds of three bus are in the ratio of 2:3:4 respectively .The ratio
between the time taken by them to travel the same distance is:/तॎन बऺख़ ॠ कॎ
गोत कॊ अनॏपॊत ॿमष: 2:3:4 ऻॖ। ऺमॊन दॐ रॎ तय करनॕ म؄ उनकॕ 젊ॊरॊ लगॕ ऺमय कॊ अनॏपॊत ऻॖ:

3:4:6

4:3:2

3:6:4

6:4:3

Correct Answer :­6:4:3 

12)
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12)

Question Stimulus :­

Maths

In what ratio water must be mixed with milk costing Rs.24 per liter to
obtain a mixture worth of Rs.16 per liter?/ॹ.24 넀ोत लॎटर कॕ दॐ ध कॕ ऺॊथ ोकऺ
अनॏपॊत म؄ पॊनॎ ोमलॊयॊ जॊए तॊोक ोम瀀ण कॊ मॐल् य ॹ.16 넀ोत लॎटर ऻख़?

1:2

1:3

2:3

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­1:2 

13)

Question Stimulus :­

Maths

10 years ago, saloo was half of Rehan in age. If the ratio of their present
ages is 3:4, what is the present age of saloo (in years)?/10 शह१ पॐश१ षॊलॐ कॎ
आयॏ रॕऻॊन कॎ आयॏ कॎ आधॎ थॎ। योद उनकॎ शत१मॊन आयॏ कॊ अनॏपॊत 3:4 ऻॖ तख़ षॊलॐ कॎ शत१मॊन
आयॏ (शह१ म؄) क् यॊ ऻॖ?

10

15

20

25

Correct Answer :­15 

14)

Question Stimulus :­

Maths 

The probability that a card drawn from a pack of 52 cards will be a king
is:/52 तॊष कॕ पत् तॕ कॎ ग䠁ॎ ऺॕ ोनकॊलॕ गयॕ 1 पत् तॕ कॕ बॊदषॊऻ कॕ पत् तॕ ऻख़नॕ कॎ 넀ॊोयकतॊ ऻख़गॎ:
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1/52

1/26

1/13

1/9

Correct Answer :­1/13 

15)

Question Stimulus :­

Maths

Find the total surface area (in cm2) of a cone of height 24 cm and base diameter
14 cm./24 ऺॕमॎ ऊँचॊई और 14 ऺॕमॎ आधॊर कॕ श् यॊऺ शॊलॕ एक षॠकॏ  कॊ कॏ ल प॑ह् ठ ꈀॕ縀फल (शग१ ऺॕमॎ म؄)
ॊत कर؄ئج ।

704

550

812

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­704 

Topic:­ Analytical Chemistry
1)

Question Stimulus :­

Euler Reciprocal relation is­/यॐलर 戀ॏ뤃म  ॠऺबॠध ऻॖ­

=  

=

=
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= 

Correct Answer :­ =  

2)

Question Stimulus :­

Which of the following relation is true­/ ोन가 म؄ ऺॕ कग़न­ऺॊ  ॠऺबॠध ऺ球 ऻॖ­

Cp= 

Cp=

 Cp= 

Cp= 

Correct Answer :­Cp=  

3)

Question Stimulus :­

In Isothermal expansion of an ideal gas­/ आदष१ गॖऺ कॕ ऺमतॊपॎय 넀ऺॊर­

All of these/ इनम؄ ऺॕ ऺभॎ

Correct Answer :­All of these/ इनम؄ ऺॕ ऺभॎ 

4)

Question Stimulus :­

The Joule­thomson Coefficient for an ideal gas is/ एक आदष१ गॖऺ कॕ ोलए जॐल

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


The Joule­thomson Coefficient for an ideal gas is/ एक आदष१ गॖऺ कॕ ोलए जॐल
थॊमऺन गॏणॊॠक ऻख़तॊ ऻॖ­ 

Infinite/ अनॠत                    

Negative/ ऋणॊ갃क

Positive/ धनॊ갃क             

Zero/ षॐ䨌

Correct Answer :­Zero/ षॐ䨌 

5)

Question Stimulus :­

If an engine operating between 1100 & 250 then the maximum efficiency
& value will be/ योद एक इॠजन 1100 ऺॕ   कॕ बॎच कॊय१ करतॊ ऻॖ तब उऺकॎ अोधकतम
दꈀतॊ कॊ मॊन ऻख़गॊ­

Correct Answer :­  

6)

Question Stimulus :­

For an irreversible process­/ एक अनॏ뤃मणॎय 넀ोकयॊ कॕ ोलए­
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Correct Answer :­  

7)

Question Stimulus :­

 For Reversible adiabatic process, which of the following is false?/ उ뤃मणॎय
ऺमख़맅 넀ोॿयॊ कॕ ोलए ोन가 म؄ ऺॕ कग़न­ऺॊ ऺ球 नऻॎ ॠ ऻॖ?

qrev = 0

All the above /उपयॏ१䌀 ऺभॎ

Correct Answer :­  

8)

Question Stimulus :­

Which one of the following relation is true?/ोन가 म؄ ऺॕ कग़न­ऺॊ  ॠऺबॠध ऺऻॎ ऻॖ?

G=H+T        

G= H+TS

 G=H­TS                   

G=TS­H

Correct Answer :­ G=H­TS                    

9)

Question Stimulus :­

Unit of rate constant for zeroth order relation is­/षॐ䨌 कख़ोट कॎ अोभोॿयॊ कॕ ोलए
दर ्㄁थरॊॠक कॎ इकॊई ऻॖ­

dm­2 mol­1 s­1  

dm­6  mol­1 s
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dm­3 mol s­1     

dm­1 mol s­1

Correct Answer :­dm­3 mol s­1      

10)

Question Stimulus :­

Inversion of Sucrose is­/  ॏऺॿख़ज कॊ 넀ोतलख़मॎकरण ऻॖ­

Zero Order Reaction/ षॐ䨌 कख़ोट अोभॿयॊ             

First Order Reaction / 넀थम कख़ोट अोभोॿयॊ

Second Order Reaction/ ो젊तॎय कख़ोट अोभोॿयॊ

Third Order Reaction/ त॑तॎय कख़ोट अोभोॿयॊ

Correct Answer :­First Order Reaction / 넀थम कख़ोट अोभोॿयॊ 

11)

Question Stimulus :­

The Graph between concentration v/s time for 1st order reaction is­/ 넀थम
कख़ोट कॎ अोभोॿयॊ कॕ ोलए ऺॊॠ꬀तॊ और ऺमय कॕ बॎच आरॕख ऻॖ­
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Correct Answer :­  

12)

Question Stimulus :­

K2 =   is for­/ K2 =   ऻॖ­

Zero order reaction/ षॐ䨌 कख़ोट अोभोॿयॊ कॕ ोलए              

First order reaction/ 넀थम कख़ोट अोभोॿयॊ कॕ ोलए

Second order reaction/  ो젊तॎय कख़ोट अोभोॿयॊ कॕ ोलए

Pseudo order reaction/ छदम कख़ोट अोभोॿयॊ  कॕ ोलए

Correct Answer :­Second order reaction/  ो젊तॎय कख़ोट अोभोॿयॊ कॕ ोलए 

13)

Question Stimulus :­

If half life time for any first order reaction is 8 min, the value of K will be­/
योद ोकऺॎ 넀थम कख़ोट कॎ अोभोॿयॊ कॕ ोलए अ현१आयॏकॊल कॊ मॊन 8 ोमनट ऻख़ तख़ k कॊ मॊन ऻख़गॊ­

1.3 min

0.087 min
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0.087 min­1  

0.087 min (dm)3

Correct Answer :­0.087 min­1   

14)

Question Stimulus :­

Which one of the sentence is true for zero order reaction­/ षॐ䨌 कख़ोट कॎ
अोभोॿयॊ कॕ ोलए ोन가 म؄ ऺॕ कग़न­ऺॊ कथन ऺ球 ऻॖ­

Initial Concentration of reaction is doubled, t1/2 also double/
अोभकॊरकख़ ॠ कॎ 넀ॊरोभॠक ऺॊॠ꬀तॊ दख़गॏनॎ ऻख़नॕ पर t1/2 दख़गॏनॊ ऻख़तॊ ऻॖ 

Initial Concentration of reaction is doubled, t1/2 will be
halved/ अोभकॊरकख़ ॠ कॎ 넀ॊरोभॠक ऺॊॠ꬀तॊ दख़गॏनॎ ऻख़नॕ पर t1/2 आधॊ ऻख़तॊ ऻॖ

Initial Concentration of reaction is doubled, t1/2 will be zero/
अोभकॊरकख़ ॠ कॎ 넀ॊरोभॠक ऺॊॠ꬀तॊ दख़गॏनॎ ऻख़नॕ पर t1/2 षॐ䨌 ऻख़तॊ ऻॖ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Initial Concentration of reaction is doubled, t1/2 also
double/ अोभकॊरकख़ ॠ कॎ 넀ॊरोभॠक ऺॊॠ꬀तॊ दख़गॏनॎ ऻख़नॕ पर t1/2 दख़गॏनॊ ऻख़तॊ ऻॖ  

15)

Question Stimulus :­

Molecularity of the reaction  is­ / अोभोॿयॊ

कॎ अणॏ ॠऺ⌀तॊ ऻॖ ­

Uni­molecular/एकआ्⠁क

Bi­molecular/ ो젊आ्⠁क

Tri­molecular/ो縀आ्⠁क

None of these/  इनम؄ ऺॕ कख़ई नऻॎ ॠ
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Correct Answer :­Uni­molecular/एकआ्⠁क 

16)

Question Stimulus :­

Which of the following is correct ?/ ोन가 म؄ ऺॕ कग़न­ऺॊ ऺमॎकरण ऺऻॎ ऻॖ ?

Correct Answer :­  

17)

Question Stimulus :­

Which of the following statement is true?/ ोन가 म؄ कग़न­ऺॊ कथन ऺ球 ऻॖ? 

Activation energy may be zero/ ऺोॿयण ऊजॊ१ कॊ मॊन षॐ䨌 ऻख़ ऺकतॊ ऻॖ

Activation energy may be negative/ ऺोॿयण ऊजॊ१ कॊ मॊन ऋणॊ갃क
ऻख़ ऺकतॊ ऻॖ

Activation energy can’t be zero and negative/ ऺोॿयण ऊजॊ१ न तख़
षॐ䨌 ऻख़ ऺकतॎ ऻॖ और न  ऋणॊ갃क

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Activation energy may be negative/ ऺोॿयण ऊजॊ१ कॊ मॊन
ऋणॊ갃क ऻख़ ऺकतॊ ऻॖ 

18)

Question Stimulus :­

For the fast reaction    relation between the relaxation time    and
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K1 ,K2 is/ तॎ倀 अोभोॿयॊ   कॕ ोलए ोश瀀ॊॠोत ऺमय     और K1 ,K2 म؄ ऺ눀輈 ऻॖ­

Correct Answer :­  

19)

Question Stimulus :­

For KCl–NaBr–H2O system­/ KCl–NaBr–H2O ॿम कॕ ोलए ­

C= 3

C = 2

C = 4

C = 5

Correct Answer :­C = 4 

20)

Question Stimulus :­

At triple point in any system degree of freedom is?/ ोकऺॎ तॠ縀 कॎ ो縀यक ोबॠदॏ पर
耀缇तॊ कॎ कख़ोट ऻख़तॎ ऻॖ?

Always one/ ऻम؄षॊ एक   

Always two/ ऻम؄षॊ दख़   

Always zero/ऻम؄षॊ षॐ䨌

Always three/ऻम؄षॊ तॎन
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Correct Answer :­Always zero/ऻम؄षॊ षॐ䨌 

21)

Question Stimulus :­

The Sulphur system is­/ ऺ一र तॠ縀 ऻॖ­

Three component system/ तॎन घटक तॠ縀   

Two component system/ दख़ घटक तॠ縀

One component system/ एक घटक तॠ縀

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­One component system/ एक घटक तॠ縀 

22)

Question Stimulus :­

In Pb­Ag system,at eutectic point temperature is­/ Pb­Ag प현ोत म؄ गलन ॿॊॠोतक
तॊपमॊन ऻॖ­

146oC

303oC

 ­23oC

 28oC

Correct Answer :­303oC 

23)

Question Stimulus :­

In CuSO4–H2O system, P = ___ / CuSO4 – H2O प현ोत म؄ P कॊ मॊन ऻॖ___

02

04
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03

05

Correct Answer :­05 

24)

Question Stimulus :­

Condensed phase rule is­/  ॠऺघोनत 넀ॊश㄁थॊ ोनयम ऻॖ­

F = C – P + 2

F = C – P + 1

F = C – P ­ 1

 F = C – P ­ 2

Correct Answer :­F = C – P + 1 

25)

Question Stimulus :­

Which of the following condition is true for validity of Nernst distribution
law?/ न팅१ट ोशतरण ोनयम कॕ  ोलए कग़न­ऺॊ कथन ऺ球 ऻॖ?

Constant temperature/ ोनयत तॊपमॊन

Variation in temperature/ तॊपमॊन म؄ पौरशत१न

Different molecular species in two phases/ दख़नख़ ॠ 넀ॊश㄁थॊओॠ म؄ ोशोभ
अणॏ कॎ उप्㄁थोत

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Variation in temperature/ तॊपमॊन म؄ पौरशत१न 

26)

Question Stimulus :­

If dissociation of the solute in one of the solvent  takes place then
according to Nernst distribution law­/ योद ोकऺॎ ोशलॊयक म؄ ोशलॕय कॊ ोशयख़जन ऻख़तॊ ऻॖ
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तख़ न팅१ट ोशतरण ोनयम कॕ अनॏऺॊर ­

Correct Answer :­  

27)

Question Stimulus :­

pOH value of 0.03 M HCl solution at 25oC is­/ 25oC तॊप पर 0.03 M HCl ोशलयन
कॊ pOH ऻॖ­

1.52

12.48

1

0

Correct Answer :­12.48 

28)

Question Stimulus :­

Which of the following are true?/ोन가 म؄ ऺॎ कग़न­ऺॊ ोशक䰀 ऺऻॎ ऻॖ?

All the above/ उपयॏ१䌀 ऺभॎ
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Correct Answer :­  

29)

Question Stimulus :­

If a solution contain 5gm of acetic acid and 7.5gm of sodium acetate and
making the volume equal to 500 ml. Dissociation content of acetic acid is
1.75×10­5 at 25oC then PH of this solution will be­/ योद 5 gm एऺॎोटक अ耀
तथॊ 7.5gm ऺख़ोडयम एऺॎटॕट कॕ ोम瀀ण कॕ ोशलयन कॊ आयतन 500 ml ोकयॊ जॊए तथॊ एोऺोटक
अ耀 कॊ ोशयख़जन ्㄁थरॊॠक 1.75 × 10­5 (25oC पर) ऻख़ तख़ एऺ ोशलयन कॊ PH ऻख़गॊ ­

2.6

5.00

4.80

3

Correct Answer :­4.80 

30)

Question Stimulus :­

Henderson­Hasselbalch equation is­/ ऻ؄डरऺन ऻऺॕलबच ऺमॎरकरण ऻॖ ­

Correct Answer :­  

31)

Question Stimulus :­
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Calculate the solubility product if at 25oC solubility of silver chloride in
water is 0.00179 g/L, value will be­/ योद 25oC तॊप पर ोऺ릦र 贀ख़रॊइड कॎ जल म؄
ोशलॕयतॊ 0.00179 g/liter ऻख़ तख़ उऺकॕ ोशलॕयतॊ गॏणनफल कॊ मॊन ऻख़गॊ­

1.56×10­10 mol2 dm­6

1.56×10­8 mol dm

1.56×10­15 mol2 dm­6

1.56×10­10 mol­1 dm­6

Correct Answer :­1.56×10­10 mol2 dm­6 

32)

Question Stimulus :­

When 100 ml of 0.1m CH3COOH and 100 ml of 0.1m KOH mixed, then­/ जब
100 ml 0.1m एोऺोटक अ耀 तथॊ 0.1m KOH कख़ ोमलॊयॊ जॊतॊ ऻॖ तब ­

pH = 7

pH < 7

pH > 7

pH   7

Correct Answer :­pH > 7 

33)

Question Stimulus :­

Which of the following is true for triclinic crystal system­/ ो縀नतॊꈀ ोॿ케ल तॠ縀
कॕ ोलए ोन가 म؄ ऺॕ उपयॏ䌀 ऻॖ ­

 a = b = c

a ≠  b ≠ c
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and a ≠  b ≠ c both/  और a ≠  b ≠ c दख़नख़ ॠ

Correct Answer :­ and a ≠  b ≠ c both/  और a ≠  b ≠ c
दख़नख़ ॠ 

34)

Question Stimulus :­

If in Ge crystal group­13 element added then doped crystal act as­/योद Ge
ोॿ케ल म؄ ऺमॐऻ 13  कॊ त刋 ोमलॊयॊ जॊतॊ ऻॖ तब शऻ ोॿ케ल ोन가 कॎ भॊॠोत कॊय१ करॕगॊ­

Insulator/ कॏ चॊलक

n­type semiconductor/ n­टॊइप अ현१चॊलक

p­type semiconductor/p­ टॊइप अ현१चॊलक

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­p­type semiconductor/p­ टॊइप अ현१चॊलक 

35)

Question Stimulus :­

In Zns, coordination no. of Zn2+ and S2 are­/ Zns म؄ Zn2+ और S2 कॎ ऺम턅यन
ॠऺ⌀ॊ ऻॖ­

 8 : 8   

4 : 4

6 : 6

1 : 1

Correct Answer :­4 : 4 

36)

Question Stimulus :­

Which one of the following shows Frenkel defect?/ ोन가 म؄ ऺॎ कग़न­ऺॊ ोॿ케ल
대؄ कल दख़ह दषॊ१तॊ ऻॖ?
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NaCl

CsCl

AgI

KCl

Correct Answer :­AgI 

37)

Question Stimulus :­

In case of n­type Semiconductor which statement is false?/n­अ현१चॊलक कॕ
ॠऺदभ१ म؄ ोन가 म؄ ऺॎ कग़न­ऺॊ कथन गलत ऻॖ?

 Si or Ge doped with electron rich impurity/ Si यॊ Ge म؄ इलॕ픀३ ॊन
कॎ अोधकतॊ शॊलॎ अषॏ्현 ोमलॊयॎ जॊतॎ ऻॖ

Filled donor band lies above the valence band/ भरॊ ॽआ दॊतॊ ब॰ड
ॠऺयख़जॎ ब॰ड ऺॕ ऊपर ्㄁थत ऻख़तॊ ऻॖ

Filled donor band lies above the conduction band/भरॊ ॽआ दॊतॊ
ब॰ड चॊलक ब॰ड ऺॕ ऊपर ्㄁थत ऻख़तॊ ऻॖ

Filled donor band lies below the conduction band/ भरॊ ॽआ दॊतॊ
ब॰ड चॊलक ब॰ड ऺॕ नॎचॕ ्㄁थत ऻख़तॊ ऻॖ

Correct Answer :­Filled donor band lies above the conduction band/भरॊ ॽआ
दॊतॊ ब॰ड चॊलक ब॰ड ऺॕ ऊपर ्㄁थत ऻख़तॊ ऻॖ 

38)

Question Stimulus :­

Which of the following shows antiferromagnetic properties?/ोन가 म؄ ऺॕ 넀ोतलग़ऻ
चॏ눀कॎय गॏण दषॊ१तॕ ऻ॰?

Fe2O3            

MNO2

CO3O4
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All of the above/ उपरख़䌀 ऺभॎ

Correct Answer :­All of the above/ उपरख़䌀 ऺभॎ 

39)

Question Stimulus :­

Miller indices for (2a, 3b, c) is­/(2a, 3b, c) कॕ ोलए ोमलर  ॐऺचकॊॠक ऻॖ ­

(111)   

(3 )

(122)

(326)

Correct Answer :­(326) 

40)

Question Stimulus :­

Diamond and Quartz are­/ ऻॎरॊ और 萀ॊट१ि ऻ॰ ­

Molecular crystal/ आ्⠁क ोॿ케ल                            

Metallic crystal/ धॊ्刋क ोॿ케ल

Covalent crystal/ऺऻ ॠऺयख़जक ोॿ케ल

 Ionic crystal/ आयोनक ोॿ케ल

Correct Answer :­Covalent crystal/ऺऻ ॠऺयख़जक ोॿ케ल 

41)

Question Stimulus :­

Lyophobic colloids are also called­/ ꬀शोशरख़धॎ कख़लॊइड (कोलत) कऻॕ जॊतॕ ऻ॰­

 Gel/ जॖल       

Sols/ऺख़✀

All the above/ उपयॏ१䌀 ऺभॎ
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All the above/ उपयॏ१䌀 ऺभॎ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Sols/ऺख़✀ 

42)

Question Stimulus :­

Which of the following is correct order of coagulation?/ ोन가 म؄ ऺॕ ꤀ॠ दन कॊ ऺऻॎ
ॿम ऻॖ?

Na+ > Mg2+> Al3+  

Al3+ > Na+> Mg2+

Na+ > Mg2+> Al3+

Al3+ > Mg2+> Na+

Correct Answer :­Al3+ > Mg2+> Na+ 

43)

Question Stimulus :­

The range of HLB value is­/ HLB मॊन कॎ ऺॎमॊ ऻॖ ­

1 to 14 /1 ऺॕ 14             

1 to 40 /1 ऺॕ 40

1 to 20 /1 ऺॕ 20

 ­1 to +1 /­1 ऺॕ +1

Correct Answer :­1 to 40 /1 ऺॕ 40 

44)

Question Stimulus :­

Which of the following sentence false in chloridal  state­/贀ख़रॊइडल अश㄁थॊ म؄
ोन가 म؄ ऺॕ गलत कथन ऻॖ­
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Surfactants may be anomic cationic nonionic or aspheric/
ऺतऻकॊरक धनॊयन ऋणॊयन अनॊयोनत यॊ उभयधमЄ ऻख़ ऺकतॕ ऻ॰ 

Law value shows solubility in oil while high value of HLB
indicates solubility in water/HLB मॊन तॕल म؄ ोशलॕयतॊ दषॊ१तॊ ऻॖ तथॊ उ猀
HLB मॊन जल म؄

Law HLB value shows solubility in water while high value of
HLB indicates solubility in Oil/ ोन가 HLB मॊन जल म؄ तथॊ उ猀 HLB कॊ
मॊन तॕल म؄ ोशलॕयतॊ दषॊ१तॊ ऻॖ

All of these/ इनम؄ ऺॕ ऺभॎ

Correct Answer :­Law HLB value shows solubility in water while high value
of HLB indicates solubility in Oil/ ोन가 HLB मॊन जल म؄ तथॊ उ猀 HLB कॊ मॊन तॕल म؄
ोशलॕयतॊ दषॊ१तॊ ऻॖ 

45)

Question Stimulus :­

The temperature at which solubility vs temperature curve intersects the
CMC vs temperature curve is called?/ शऻ तॊप ोजऺ पर ोशलॕयतॊ और तॊप कॊ शॿ,
CMC और तॊप शॿ कख़ 넀ोत稀ॕद करतॊ ऻॖ कऻलॊतॊ ऻॖ?

Critical point/ ॿॊॠोतक ोबॠदॏ                  

Triple point/ ो縀यक ोबॠदॏ

Kraft point/ ॿॊ鐀 ोबॠदॏ

Transition point/  ॠऺॿमण ोबॠदॏ

Correct Answer :­Kraft point/ ॿॊ鐀 ोबॠदॏ 

46)

Question Stimulus :­

The factors effecting adsorption are­/ अोधषख़हण कख़ 넀भॊोशत करनॕ शॊलॕ करक ऻ॰ ­

Temperature/तॊप                    

Pressure/ दॊब

Nature of gas and adsorbent/ गॖऺ कॎ 넀क॑ोत और अोधषख़हक कॎ 넀क॑ोत
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Nature of gas and adsorbent/ गॖऺ कॎ 넀क॑ोत और अोधषख़हक कॎ 넀क॑ोत

All of the above/ उपरख़䌀 ऺभॎ

Correct Answer :­All of the above/ उपरख़䌀 ऺभॎ 

47)

Question Stimulus :­

Langmuir adsorption isotherm is?/ल॰ग怀ॐर अोधषख़हण ऺमतॊप ऻॖ?

Q

Q = KPA

Q  =  

Correct Answer :­  

48)

Question Stimulus :­

Which of the following is correct about Van’t Hoff factor?/शॊॠट ऻॗफ कॊरक कॕ
ऺ눀輈 म؄ ोन가 म؄ ऺॕ कग़न­ऺॊ कथन ऺ球 ऻॖ?

i =  /

/

/

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­ /  

49)
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Question Stimulus :­

If the molar heat of fusion if ice at 0oC is 6024.6 J then molal freezing
point depression constant of water will be?/ योद 0oC पर बफ१  कॎ मख़लर गलन ऊ騀ॊ
6024.6 J ऻख़ तख़ जल कख़ मख़लल ोऻमॊॠक ोबॠदॏ म؄ अशनमन ऻख़गॊ?  

1 K kg mol­1         

1.85 K kg mol­1 

1.3 kg mol

 2.00 K kg mol­1

Correct Answer :­1.85 K kg mol­1  

50)

Question Stimulus :­

The Van’t Hoff equation for the osmotic pressure of a dilute solution is­/तनॏ
ोशलयन कॎ परॊऺरण दॊब कॕ ोलए शॊॠट ऻॗफ ऺमॎकरण ऻॖ­

Correct Answer :­  

51)

Question Stimulus :­

The Principle of polarography depends upon­/ पख़लॕरख़鄀ॊफॎ कॊ ोऺ현ॊॠत ोनभ१र करतॊ
ऻॖ­  

Electrode Potentials/ इलॕ픀३ ख़ड ोशभश                 

Electrode Polarization/ इलॕ픀३ ख़ड 관ॏशण

Cathode Polarization/ कॖथख़ड 관ॏशण

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Cathode Polarization/ कॖथख़ड 관ॏशण

Quantity of electricity and time/ ोशद्यॏ त और ऺमय कॎ मॊ縀ॊ पर

Correct Answer :­Electrode Potentials/ इलॕ픀३ ख़ड ोशभश                  

52)

Question Stimulus :­

How many significant figures are there in 0.0782 + 0.0712 + 0.0521?
/0.0782 + 0.0712 + 0.0521म؄ ोकतनॕ ऺॊथ१क अॠक ऻ॰­

3

4

5

6

Correct Answer :­4 

53)

Question Stimulus :­

Microwave spectra are not observed in the case of following state?/
ोन가ोल्खत म؄ ऺॕ कग़न­ऺॎ अश㄁थॊ म؄ मॊइॿख़शॕश ⨀ॕ픀३ ॊ 넀ॊ नऻॎ ॠ ऻख़तॊ ऻॖ?   

In gases/ गॖऺ म؄

In liquid/ ꬀श म؄

In solid and liquids both/ ठख़ऺ और ꬀श दख़नख़ ॠ म؄

In gas and liquid both/ गॖऺ और ꬀श दख़नख़ ॠ म؄

Correct Answer :­In solid and liquids both/ ठख़ऺ और ꬀श दख़नख़ ॠ म؄ 

54)

Question Stimulus :­

If the frequency of strong yellow line in the spectrum is 5.09 ×104 s­1
then what is the wavelength in meter?/ योद ⨀ॕ픀३म म؄ पॎलॎ रॕखॊ कॎ आश॑ो縃 5.09
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×104 s­1 ऻॖ तख़ उऺकॕ तरॠग दॖ鐋१ मॎटर म؄ ऻख़गॎ?  

582.5 × 10­9 m    

582.4 × 10­9 m

589.4 m

589.4 × 10­6 m

Correct Answer :­582.4 × 10­9 m 

55)

Question Stimulus :­

In UV spectrum the absorption maximum of 2,4­hexadiene is­/2,4 ऻॕ쀀ॊडॊइन
कॊ UV ⨀ॕ픀३म म؄ अोधकतम अशषख़हण ऻॖ­

237 m                

228 m

227 m

240 m

Correct Answer :­227 m  

56)

Question Stimulus :­

The pH value for 0.1 N solution of HCl at 25oC is­/25oC पर HCl कॕ 0.1 N
ोशलयन कॕ ोलए pH मॊन ऻख़गॊ ­

11.3

13.0

1.0

2.9
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Correct Answer :­1.0 

57)

Question Stimulus :­

Which one of the following will function of buffer solution?/ ोन가 म؄ ऺॕ कग़न­ऺॊ
एक बफर ोशोलयन कॎ तरऻ कॊय१ करतॊ ऻॖ?

CH3COOH + NaOH

NaH2PO4 + H3PO4

NaCl + NaOH

HCl + CH3COOH

Correct Answer :­NaH2PO4 + H3PO4 

58)

Question Stimulus :­

The Wave function in quantum mechanics represent­/ 萀ॊॠटम यॊॠो縀कॎ म؄ तरॠग
फलन दषॊ१तॊ ऻॖ ­

A state of system/ तॠ縀 कॎ अश㄁थॊ कख़  

Shape of the system/ तॠ縀 कॕ आकॊर कख़   

Probability of the system/ तॠ縀 कॎ 넀ॊोयकतॊ

Energy of the system/ तॠ縀 कॎ ऊजॊ१ कख़

Correct Answer :­A state of system/ तॠ縀 कॎ अश㄁थॊ कख़   

59)

Question Stimulus :­

The symmetry point group of the BF3 molecule is­/ BF3 म؄ अणॏ ोबॠदॏ ऺमॐऻ
ऺमोमोत ऻख़गॎ ­

C3v
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D3h

C2v

D2h

Correct Answer :­D3h 

60)

Question Stimulus :­

Which among the following molecules belong to point group C4v/ ोन가 म؄ ऺॕ
कग़न­ऺॊ अणॏ C4v ोबॠदॏ ऺमॐऻ कॊ ऻॖ­

XeOF4

XeF4

Correct Answer :­XeOF4 

61)

Question Stimulus :­

Rotational spectrum is not possible for one of the following molecules?/
ोन가 अणॏओॠ म؄ ऺॕ कग़न ऺॕ म؄ घॐणЄ ⨀ॕ픀३म  ॠऺभश नऻॎ ॠ ऻॖ?

MNO

CO2

HCl

CO

Correct Answer :­CO2 

62)

Question Stimulus :­
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IR active modes are also roman active in­/IR ऺोॿय ॺप जख़ ोक रमण ऺोॿय भॎ ऻॖ­

CO2

Acetylene/ एोऺोटलॎन

Nitrous Oxide/ नॊइट३ऺ ऑ쀀ॊइड

Nitrogen dioxide/ नॊइट३ ख़जन डॊइऑ쀀ॊइड

Correct Answer :­Nitrous Oxide/ नॊइट३ऺ ऑ쀀ॊइड 

63)

Question Stimulus :­

Raman line on lower frequency sides are called­/ ोन가 आश॑ो縃 कॎ तरफ शॊलॎ रमण
रॕखॊएॠ  कऻलॊतॎ ऻ॰ ­

Stocks/ 케ॗ쀀

Antistokes/ ए灠ॎ케ॗ쀀

Raman lines/ रमण लॊइ팅

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Antistokes/ ए灠ॎ케ॗ쀀 

64)

Question Stimulus :­

In any electronical  cell oxidation takes place at­/ ोकऺॎ ोशद्यॏ त रॊऺॊयोनक ऺॕल म؄
ऑ쀀ॎकरण ऻख़तॊ ऻॖ­

Anode/ एनख़ड पर

Cathode/ कॖथख़ड पर

Both electrode/ दख़नख़ ॠ इलॕ픀३ ख़ड पर

Electrolyte/ ोशद्यॏ त अपघ㠁 पर

Correct Answer :­Anode/ एनख़ड पर 
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65)

Question Stimulus :­

Which of the following is indicator electrode?/ ोन가 म؄ ऺॕ कग़न­ऺॊ  ॐऺचक इलॕ픀३ ख़ड
ऻॖ?

Hydrogen electrode/ ऻॊइड३ ख़जन इलॕ픀३ ख़ड

Amalgam electrode/ अमᨀम इलॕ픀३ ख़ड

Redox electrode/ रॕडख़쀀 इलॕ픀३ ख़ड

Platinam electrode/ 儐ॖोटनम इलॕ픀३ ख़ड

Correct Answer :­Redox electrode/ रॕडख़쀀 इलॕ픀३ ख़ड 

66)

Question Stimulus :­

The standard reduction potential for half­cell reaction is/ अ현१षॖल अोभोॿयॊ कॎ
ोलए मॊनक अपचयन ोशभश ऻॖ

 

 

The e.m.f. of above reaction is­/उ䌀 अोभोॿयॊ कॎ ोलए e.m.f ऻॖ ­

 ­0.35 v

 +1.17v

+0.35v

 ­1.17 v

Correct Answer :­ +1.17v 

67)

Question Stimulus :­

If  =­0.403v, then at 298K the potential of a cadmium electrode in
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0.01molar solution is­/ योद  ­0.403v ऻॖ तख़ ोशलयन म؄ 0.01मख़लर पर कॖडोमयम
इलॕ픀३ ख़ड कॊ ोशभश ऻख़गॊ ­   

­0.3439 v

+0.3439 v

 ­0.934 v

+0.934 v

Correct Answer :­­0.3439 v 

68)

Question Stimulus :­

At 25oC the dissociation constant of acetic acid is 1.8 10­5 The PKa value

of acid is ­/25oC पर एऺॎोटक अ耀 कॊ ोशयख़जन ्㄁थरॊॠक 1.8 10­5 ऻॖ तख़ कॊ अ耀 कॊ PKa 
मॊन ऻख़गॊ

13

4.488

4.009

4.7447

Correct Answer :­4.7447 

69)

Question Stimulus :­

Quinhydrone used in quinhudrone electrode is­/्萀नऻॊइड३ ख़न इलॕ픀३ ख़ड म؄ 넀यॏ䌀
्萀नऻॊइड३ ख़न ऻॖ­

 Liquid/ ꬀श

Gas/ गॖऺ

Organic compound/ कॊब१ोनक यग़ोगक

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Glass/ 昀ॊऺ

Correct Answer :­Organic compound/ कॊब१ोनक यग़ोगक 

70)

Question Stimulus :­

In standard hydrogen electrode the pressure of hydrogen is kept­/ मॊनक
ऻॊइड३ ख़जन इलॕ픀३ ख़ड म؄ ऻॊइड३ ख़जन कॊ दॊब रखॊ जॊतॊ ऻॖ ­

10 atmosphere/10 शॊयॏमॠडल

4 atmosphere/4 शॊयॏमॠडल

2 atmosphere/2 शॊयॏमॠडल

1 atmosphere/1 शॊयॏमॠडल

Correct Answer :­1 atmosphere/1 शॊयॏमॠडल 

71)

Question Stimulus :­

The correct symmetry for ClF3 is­ / ClF3 कॕ ोलए ऺऻॎ ऺमोमोत ऻॖ­

C3

 D3h

C2v

 C3v

Correct Answer :­C2v 

72)

Question Stimulus :­

Vant Hoff factor for an electrolyte is always­/ ोशद्यॏ त अपघ㠁 कॎ ोलए शॊॠट ऻॗफ
ऻम؄षॊ ­

Greater than one/ एक ऺॕ अोधक ऻख़तॊ ऻॖ
Less than one/ एक ऺॕ कम ऻख़तॊ ऻॖ
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Less than one/ एक ऺॕ कम ऻख़तॊ ऻॖ

A negative value/ऋणॊ갃क मॊन ऻख़तॊ ऻॖ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Greater than one/ एक ऺॕ अोधक ऻख़तॊ ऻॖ 

73)

Question Stimulus :­

If 500ml of solution contains one mole of solute then its molarity is­/ योद
500 ml ोशलयन म؄ एक मख़ल ोशलय ऻख़ तख़ उऺकॎ मख़लरतॊ ऻख़गॎ  ­

1 M

2 M

3 M

0.5 M

Correct Answer :­2 M 

74)

Question Stimulus :­

At 100oC the vapour pressure of water is­/100oC पर पॊनॎ कॊ शॊ萀 दॊब ऻख़गॊ­

76 mm

67 mm

670 mm

760 mm

Correct Answer :­760 mm 

75)

Question Stimulus :­

H2O­C2H5OH system is­/ H2O C2H5OH तॠ縀 ऻॖ ­
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Azeotropic mixture/ ्㄁थर 萀थनॊॠकॎ ोम瀀ण

Miscible mixture/ ोम瀀णॎय ोम瀀ण

Partially miscible/ आॠोषक ोम瀀णॎय ꬀श

Immiscible liquids/ अोम瀀णॎय ꬀श

Correct Answer :­Azeotropic mixture/ ्㄁थर 萀थनॊॠकॎ ोम瀀ण 

76)

Question Stimulus :­

The percentage of HCl in the azeotropic mixture of HCl and water is­/ HCl
श जल कॕ ्㄁थर 萀थनॊॠकॎ ोशलयन म؄ HCl कॊ 넀ोतषत ऻॖ ­

20.24%

35.25%

95.5%

100%

Correct Answer :­20.24% 

77)

Question Stimulus :­

The temperature at which phenol is completely miscible in water to from a
homogeneous solution is called?/ शऻ तॊप ोजऺ पर ोफनॗल जल म؄ पॐण१तॊॡ ोशलय ऻख़कर
ऺमॊॠगॎ ोशलयन बनतॊ ऻॖ कऻलॊतॊ ऻॖ?    

Critical solution temperature/ ॿॊॠोतक तॊप

Absolute temperature/ परम तॊप

Consolute temperature/  ॠऺोशलय  ॠऺोशलयन तॊप

Eutectic temperature/ गलन ॿॊॠोतक तॊप

Correct Answer :­Consolute temperature/  ॠऺोशलय  ॠऺोशलयन तॊप 
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78)

Question Stimulus :­

36 g of glucose is present in 500g of water, the molality of the solution
is­/ योद 36 g 昀ॐकख़ि 500g पॊनॎ म؄ उप्㄁थत ऻख़ तख़ ोशलयन कॎ मख़ललतॊ ऻख़गॎ­   

0.2

0.4

0.8

1.0

Correct Answer :­0.4 

79)

Question Stimulus :­

Liquid oil can be converted to solid fat by­/ ꬀श तॕल कॊ ठख़ऺ शऺॊ म؄ पौरशत१न ऻख़तॊ
ऻॖ­ 

Hydrogenation/ ऻॊइड३ ख़जनॎकरण 젊ॊरॊ

Saponification/ ऺपख़नॎकॕषन 젊ॊरॊ (ऺॊबॏनॎकरण)

Dehydration/ ोनज१लॎकरण

Oxidation of double bond/ ो젊बॠध कॕ ऑ쀀ॎकरण 젊ॊरॊ

Correct Answer :­Hydrogenation/ ऻॊइड३ ख़जनॎकरण 젊ॊरॊ 

80)

Question Stimulus :­

Temporary hardness is caused due to the pressure of­/ अ㄁थॊई कठख़रतॊ ोकऺकॕ
दबॊश कॕ कॊरण ऻख़तॎ ऻॖ­

CaSO4

CaCl2

CaCO3
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Ca(HCO3)2

Correct Answer :­Ca(HCO3)2 

81)

Question Stimulus :­

When zeolite is treated with hard water the sodium ion are exchange
with_____/ जब ोजयख़लॊइट कख़ कठख़र जल कॕ ऺॊथ अोभक॑त करॊयॊ जॊतॊ ऻॖ तख़ ऺख़ोडयम आयन
कॊ ोशोनमय _____ कॕ ऺॊथ ऻख़तॊ ऻॖ ­

 ions

 ions

ions

 ions

Correct Answer :­  ions 

82)

Question Stimulus :­

Chemical name of Permutit is­/ परमॏोटट कॊ रॊऺॊयोनक नॊम ऻॖ­

Hydrated sodium aluminum/ जलॎय ऺख़ोडयम ए嘀ॏोमोनयम      

Sodium Hexameta Phosphate/ ऺख़ोडयम ऻॕ쀀ॊम؄टॊ फॗ⼀ॕट  

Sodium Silicate/ ऺख़ोडयम ोऺोलकॕट

Sodium Meta Aluminate / ऺख़ोडयम म؄टॊ ए嘀ॏोमनॕट

Correct Answer :­Hydrated sodium aluminum/ जलॎय ऺख़ोडयम ए嘀ॏोमोनयम       

83)

Question Stimulus :­

In municipal water supply, microorganism can be removed by­ नगर ोनगम जल
넀दॊय म؄  ॐऺ騀 जॎशख़ ॠ कख़ ऻटॊयॊ जॊतॊ ऻॖ/­
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Coagulation/ ꤀ॠ दन 젊ॊरॊ  

Chlorination/  贀ख़रॎनॎकरण 젊ॊरॊ

Sedimentation/ अशऺॊदन 젊ॊरॊ

Aeration/ शॊतन 젊ॊरॊ

Correct Answer :­Chlorination/  贀ख़रॎनॎकरण 젊ॊरॊ 

84)

Question Stimulus :­

Coke is obtained from Coal by­/ कख़ल ऺॕ कख़क 넀ॊ ोकयॊ जॊतॊ ऻॖ ­

Croaking/ भॠजन 젊ॊरॊ             

Fractional distillation/ 넀भॊजॎ आऺशन 젊ॊरॊ

Destructive distillation/ घॊतक आऺशन

Fractionation/ ोशभॊजन

Correct Answer :­Destructive distillation/ घॊतक आऺशन 

85)

Question Stimulus :­

The fuel use in jet engines is­/ जॕट इॠजन म؄ उपयख़ग ऻख़नॕ शॊलॊ ईॠधन ऻॖ ­

Kerosene/ ोम㈁ॎ कॊ तॕल

Fuel Oil/ ईॠधन तॕल

Gasoline/ गॖऺख़लॎन

Diesel/ डॎिल

Correct Answer :­Kerosene/ ोम㈁ॎ कॊ तॕल 

86)

Question Stimulus :­
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Coal is determined by­/ कख़ल कॊ ोनॺपण ोकऺकॕ 젊ॊरॊ ऻख़तॊ ऻॖ­

Gas analysis/ गॖऺ ोश娀ॕहण

Volumetric analysis/ आयतनॎ ोश娀ॕहण

Proximate analysis/ अनॏमॊोनत ोश娀ॕहण

Salt analysis/लशण ोश娀ॕहण

Correct Answer :­Proximate analysis/ अनॏमॊोनत ोश娀ॕहण 

87)

Question Stimulus :­

Calorific value of coal increases with the­/ कख़ल कॊ कॖलख़ौरोफक मॊन बुतॊ ऻॖ­

Increase in Sulphur content/ ऺ一र कॎ मॊ縀ॊ बुनॕ पर

Increase in Ash content/ रॊख कॎ मॊ縀ॊ बुनॕ पर

Decrease in moisture content/ नमॎ कम करनॕ पर

Decrease in Fixed content / कॊब१न कॎ मॊ縀ॊ घटनॕ पर

Correct Answer :­Decrease in moisture content/ नमॎ कम करनॕ पर 

88)

Question Stimulus :­

A fuel has 30% normal heptane or 70% iso­octane,its octane number
should be­/ योद ईॠधन म؄ 30% ऺॊधॊरण ऻॕॕन ऻॖ और 70% आइऺख़ ऑ픀ॕन ऻॖ तख़ उऺकॎ
ऑ픀ॕन  ॠऺ⌀ॊ ऻख़गॎ­

130

70

100

40

Correct Answer :­70 
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89)

Question Stimulus :­

A good lubricant should have_____/ एक अ稀ॕ Ⰰॕऻक म؄ _______ ऻख़नॊ चॊोऻए ­

Low viscosity index/ ोन가 툀ॊनतॊ  ॐऺचकॊॠक

High viscosity index/ उ猀 툀ॊनतॊ  ॐऺचकॊॠक

Low Fire point/ ोन가 ခलॊॠक ोबॠदॏ

High voltality/ उ猀 षॎ퀀शॊ萀षॎलतॊ

Correct Answer :­High viscosity index/ उ猀 툀ॊनतॊ  ॐऺचकॊॠक 

90)

Question Stimulus :­

When Graphite is dispersed in oil it is called­/ जब 鄀ॕफॊइट कख़ तॕल म؄ ोमलॊयॊ जॊतॊ ऻॖ तख़ उऺॕ
कऻतॕ ऻ॰­

Grease/ 鄀ॎऺ

aquadag / ए萀ॊडॕग

Oildag/ ऑइलडॕग

Blended Oil/ ोमो瀀त तॕल

Correct Answer :­Oildag/ ऑइलडॕग 

91)

Question Stimulus :­

Calculate the  Ho if equilibrium constant of a reaction doubles on raising
the temperature from 25oC to 35oC/  Ho कॎ गणनॊ कॎोजए योद ोकऺॎ अोभोॿयॊ कॊ
तॊप 25oC ऺॕ 35oC तक बुॊनॕ पर उऺकॊ ऺॊम् य ्㄁थरॊॠक दख़गॏनॊ ऻख़ जॊतॊ ऻख़­

53.141 KJmol­1

53.141  J­1mol­1

53.141 KJmol
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53.141 Jmol­1

Correct Answer :­53.141 KJmol­1 

92)

Question Stimulus :­

Which of the followings are example of heterogeneous equilibria:  /ोनम् न म؄
ऺॕ ोशहमॊॠगॎ ऺॊम् य कॊ उदॊऻरण ऻॖ­

S

All of the above /उपरख़क् त ऺभॎ

Correct Answer :­ S 

93)

Question Stimulus :­

Calculate Mole fraction of acetic acid if the density of 2M solution of acetic
acid (Molecular Mass=60g mol­1) in H2O is 1.02 gm­1­ / एऺॎोटक अम् ल कॕ मख़ल
넀भॊज कॎ गणनॊ कॎोजए योद एऺॎोटक अम् ल कॕ 2M ोशलयन कॊ जल म؄ घनत् श 1.02 gm­1 ऻख़
(आ्⠁क ꬀श् यमॊन=60g mol­1) ­

0.2

0.038

0.5

0.62

Correct Answer :­0.038 

94)

Question Stimulus :­

According the Raoult’s law­ / रॊउल् ट ोनयम कॕ अनॏऺॊर­
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PA/ PoA=xA

PA/ PoA=xB

PoA / PA=xA

PoA / PA=xB

Correct Answer :­PA/ PoA=xA 

95)

Question Stimulus :­

Steam distillation used in purification of organic compounds which have­ /
भॊप आऺशन कॊ उपयख़ग उन कॊब१ोनक यग़ोगकख़ ॠ कॕ षॏ현ॎकरण कॕ ोलए ोकयॊ जॊतॊ ऻॖ, ोजनकॕ­

Low boiling Point/ क् शथनॊॠक ोबॠदॏ ोनम् न ऻख़तॕ ऻ॰

High boiling Point/ क् शथनॊॠक ोबॠदॏ उच् च ऻख़तॕ ऻ॰

All the above/ उपयॏ१䌀 ऺभॎ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­High boiling Point/ क् शथनॊॠक ोबॠदॏ उच् च ऻख़तॕ ऻ॰ 

96)

Question Stimulus :­

Which of the following liquids are partial miscibible and partial miscibility
increases on lowering the temperature­ /ोनम् न म؄ ऺॕ कग़न ऺॕ ꬀श, जख़ ोक आॠोषक
ोम瀀णॎय ऻ॰, उनकॎ आॠोषक ोम瀀णॎयतॊ बुतॎ ऻॖ,.......  कॊ तॊप कम करनॕ ऺॕ ­

(C2H5)2 NH­H2O

(C2H5)2 N­H2O

All the above/ उपयॏ१䌀 ऺभॎ

Aniline­Hexane/ एनॎलॎन­ऻॖक् ऺ ॕन

Correct Answer :­All the above/ उपयॏ१䌀 ऺभॎ 
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97)

Question Stimulus :­

H2O nicotine liquids shows­ / जल ोनकख़ोटन ꬀श दषॊ१तॕ ऻ॰­

Complete miscibility above certain temperature / एक ोनो洀त तॊप
कॕ ऊपर पॐण१ ोम瀀णॎयतॊ

Complete miscibility below certain temperature/ एक ोनो洀त तॊप
कॕ नॎचॕ पॐण१ ोम瀀णॎयतॊ

Complete miscibility both above and below certain
temperature / एक ोनो洀त तॊप कॕ ऊपर तथॊ नॎचॕ पॐण१ ोम瀀णॎयतॊ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Complete miscibility both above and below certain
temperature / एक ोनो洀त तॊप कॕ ऊपर तथॊ नॎचॕ पॐण१ ोम瀀णॎयतॊ 

98)

Question Stimulus :­

Acording to Henry’s law­ / ऻॕनरॎ ोनयम कॕ अनॏऺॊर­

m p

m  

m=p

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­m p 

99)

Question Stimulus :­

Which of the following molecular ion shows medium intensity in the Mass
spectrum­ / ोनम् न म؄ ऺॕ ोकऺ आ्⠁क आयन कॎ ꬀श् यमॊन ऺ् पॕक् ट३ म म؄ तॎ倀तॊ मध् यम ऻख़तॎ ऻॖ­

ArF

https://applink.adda247.com/d/XhqWf9lSap
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ArCl

ArBr

ArI

Correct Answer :­ArBr 

100)

Question Stimulus :­

In mass spectrometry QET is stands for­ / ꬀श् यमॊन ऺ् पॕक् ट३ ख़मॊपॎ म؄ QET दषॊ१तॊ ऻॖ­

Quantum equilibrium theory/ क् शॊण् टम ऺॊम् य ोऺ현ॊॠत

Quasi equilibrium theory / क् शॊऺॎ ऺॊम् य ोऺ현ॊॠत

Quantum electron theory / क् शॊण् टम इलॕक् ट३ ॗन ोऺ현ॊॠत

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Quasi equilibrium theory / क् शॊऺॎ ऺॊम् य ोऺ현ॊॠत 
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